










公開用 P.1



 
 

  

 

 = 0 1 00 0 12 1 2
×  

= 0 1 0 00 0 1 00 0 0 1, , ,  
      ( = 1,2, , )   0 
   + + + + = 0

 + 2 + (1 ) = 0       ( )= /  
 
  (0) = 0,    (0) = 2  ( )  

公開用 P.2
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(1) PA PB yz PA PB

x xA = 0 [m] xB = 0.1 [m]
 = 1.0 10 10 [F/m] V x [m]

V = 500 x2 + 50 x [V]
(a) x Ex [V/m] Ex x
(b) [C/m3] x

q [C/m2]
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(2) PC PD yz PC PD x
xC 0.4 [m] xD = 0.4 [m]

0 = 4 10 7 [H/m] PC y
JC 20/ [A/m] PD y
JD 20/ [A/m]

(a) z Bz [T] Bz x
(b) q = 8.0 10 19 [C] x = 0 [m] v = 106 [m/s]

y F [N]
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AND, OR, NOT, NAND, NOR D
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公開用 P.8
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  ( , ) ( ) ( ) ( )  ( )  ( ) = ( )         ( < < ) 

 
(i)  (a) (c) ( )  

 ( )  

 (a)  ( ) = cos                (b)  ( ) = 1 (0 < 2)1 ( 2 < 0)0 ( < 2 , 2)           (c)   ( ) = 1 ( 0)1 + ( < 0)   
(ii) (i)  | ( )| = 12 | ( )|  

            sin   

 
 

 (i)    ,  ,     = ,   1  { , , , }   =                                                                    
 = ,      ( = 2,3, , )   

 , , ,   
 

(ii)  ,  , = Span{ , , ,  }     

= 0101 , = 1212 , = 1111 ,       = 3311  

(iii) 1  
(ii)    
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(1) (2)
0 [F/m] 0 [H/m] x y z

[m]

(1) y Y1(0, a, 0) Y2(0, –a, 0) Q [C] –Q [C] a > 0 Q > 0

(a) x X(x, 0, 0) x y z Ex [V/m], Ey [V/m], Ez [V/m]
(b) A(a, a, 0) x y z Eax [V/m], Eay [V/m], Eaz [V/m]
(c) O q [C] 3 q > 0 q O A

W [J]

(2) z m : x = y – b = 0 n : x = y + b = 0
I [A] +z b > 0 I > 0

(a) x X(x, 0, 0) x y z Hx [A/m], Hy [A/m], Hz [A/m]
(b) q [C] x B(4b/3, 0, 0) vz [m/s] +z

q > 0 vz > 0 x y z Fx [N], Fy [N], Fz [N]

(c) x x > 0 ( ) x x0 [m]
Hmax [A/m]

公開用 P.12
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AND, OR, NOT, NAND, NOR D

(1) , , , ~~= ( + 1)( + 1)   = ( + )   = ( + ) +   = ( + )f= + + ( + + )

(2) 2 bit

1
0 1 4  1 0 0 1 1

0 1 0
D
LOGIC

00 11, 01 10 0

0 0 0 0 0
0 0 0 1 1

: :

D Q

D Q

 LOGIC
d 0

d 1

S a

Sb
Cu

Cd

0000 1 1000
0001 0 1001 1
0010 0 1010 1
0011 1 1011
0100 0 1100 0
0101 1101 1
0110 1110 1
0111 0 1111 0

0 0

0 11 1

1 0
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公開用 P.16



 

 

 

(1)  

 x  = log (cos ) 

  = log  

 

(2)  (2 3 ) + ( 6 + 5 ) = 0 
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 1 1 = (cos + sin ) A B
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公開用 P.18


